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1110 f21EHT 0 164
1120 $21E JTHT 1 79
1130 +4&HT 0 29
1140 FkJRHET 0 15
1150 F/RET—T B 1 214
1160 F/RETZ=T B 0 241
1170 ;& 7KHET 0 168
1180 EE&FLHET 2 251
1190 #&FAHT 0 188
1200 XFHET—TH 0 139
1210 XFHEIZTH 0 166
1220 $HET 0 153
1230 %KHET 0 173
1240 B EHT 0 122
1250 fEEHET 0 132
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1260 JEHR & 0 41
1270 = EHT 1 111
1280 FRAHET 0 148
1290 £RHT 0 184
1300 % ZEHT 0 138
1310 RJLHT 1 89
9999 XH X ET 9 8063
1510 HE#_E BT 0 808
1520 }EHI T HET 0 757
1530 HEHNTHET 0 324
1540 K{23FHT 0 587
9999 HEMMRE X ET 0 2476
2010 = S5 T 0 192
2020 % &7l 0 311
2030 ;AT 0 20
2040 ;HET—T B 2 216
2050 :ET=TH 0 219
2060 Hg1F 0 49
2070 +RET—TH 0 264
2080 +ETZTH 0 200
2090 AT 0 1885
2100 fhiLHET 0 263
2110 }EWIETET—T B 0 255
2120 HEMIETETZT B 0 292
9999 ZERXET 2 4166
2510 #AUEET 2 2333
2520 sk EEHT 2 1473
2530 = /NRHET 1 386
2540 FHi5HT 0 485
2550 ;HHET 0 264
2560 = SHT 2 1011
2570 KEHT 0 97
9999 MAERXET 7 6049
3010 K#THT 0 1083
3020 ;T HT 1 1029
3030 L EFHT 1 877
3040 A LHET 0 142
3050 BT 2 2302
3060 B THT 0 507
3070 THESEHT 0 530
3080 HHHHT 0 500
3090 HHEHT 0 474
3100 HhFaHET 1 501
3110 EHAILHET 1 493
9999 J\FiE#&XEt 6 8438
3510 2R LHT 0 199
3520 R chf 1 393
3530 2 JF THT 0 1063
3540 Z= B KHT 1 428
3550 AETHT 0 854
3560 = T ERAT 0 304
3570 = T FaMT 0 841
3580 FLIFTHT 0 532
3590 EHT 0 17
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9999 S HKXET 2 4631
4010 BJIIQET 0 345
4020 {ESHT 1 93
4030 15HET 1 249
4040 = HEAHT 1 259
4050 7K /T 1 518
4060 ESZ HHAT 0 397
4070 Jt/RHET 1 195
4080 =;I;HAMT 0 243
4090 FR K ET 0 340
4100 B FEFNHET 0 151
4110 Jt FFnET 0 187
9999 &I XET 5 2977
4510 EREE—ZEHT 1 770
4520 EREE — ZEHT 1 205
4530 EREE=FEHT 0 211
4540 EREEIUZEHET 0 175
4550 EREE L FHT 0 120
4560 EREE/NEEHET 0 102
4570 EREE-HFHET 0 158
4580 EREE)\ZHET 0 101
4590 EREE N FEHT 0 167
4600 AREE+ZEHT 0 224
4610 EREE+—ZFHET 0 266
4620 EREE+ —ZEHT 0 392
9999 ERERXET 2 2891
5010 FAFNHE HEHT 0 249
5020 HAF0BAEMET 0 228
5030 FRFNRI{ZHT 0 263
9999 MAFIRXET 0 740
5510 b R HET 1 231
5520 = HhHET 0 671
5530 FA= HT 1 525
5540 MY 0 284
5550 EEHT 0 63
9999 =R X 5t 2 1774
6010 [f]ET/IMER 0 113
6020 [z ET 5 0 125
6030 [EET & JII 0 105
6040 EizZEFHET 1 227
6050 JI|AMBTE 0 168
6060 JI|EHATFE 2 131
9999 REERXET 3 869
6510 B &= A#HBHET 0 26
6520 HZEAKIEHET 0 217
6530 HE AFTHHET 1 102
6540 HZEAILTHT 0 201
6550 B =AM Z NHET 0 101
6560 HZEAEILHET 0 139
6570 B E ALERIHET 0 147
6580 H&EAEHT 0 96
6590 HZE AKHET 1 58
6600 B &= AHHT 0 86
6610 HEA L FGHT 0 47
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6620 HZE A FHHET 0 57
6630 HZEA T AT 0 96
6640 B & A BT 0 37
6650 B &= ASRHET 0 2
6660 H Z A RLHET 0 30
9999 HEAKKET 2 1442
7010 — &M O ET 1 179
7020 — R AHT 0 258
7030 — R FRHAET 0 114
7040 — R T KEFHET 0 221
7050 — R ¥7 H I HET 0 120
9999 — R&XEtT 1 892
8011 JRAHTFEERL 0 69
8012 YR AHTFEERA 0 141
8013 IRAHTFERIL 0 84
8021 HRAHTZEKLY 0 87
8022 IR AHTIEKA 0 4
8023 R AHETEKIE 0 10
8031 FRAETH ALY 1 189
8032 FABTHAA 0 12
8033 IRAHBTH AL 0 16
8041 IR AHTELIFZL 0 58
8042 IR AHTELIRA 0 31
8043 R AHET LRI 0 19
8044 IR AHTELIRIZ 0 31
8045 IR ABTELIF T 0 50
8050 IR AHT A 0 174
8060 IR AHTFT# 0 139
8070 IJRABTER 0 142
8080 Ir AHT &k 0 61
8090 IR AHT HiEE 0 47
8100 RAHETHI /IX 0 24
8110 IRAHT I 5k 0 58
8120 IR AHTEE"S 1 97
8130 JRAHTH L 0 95
8140 IJABIEHEXRT 0 136
8150 IRAHTHFK L 0 87
9999 AKX ET 2 1861
9010 FTHTAKEH 2 658
9020 FTHTEFER 1 401
9030 FTHTH &£ H 2 1274
9040 F+THTHEH 3 1504
9999 FT#XEt 8 3837
9110 SERT T HIE 0 614
9120 $EETH L 0 286
9130 $EHTH & 0 141
9140 SERT T4 0 460
9150 $RZET L 55 2 532
9160 SEETERHT 1 816
9170 $RETANH 2 1001
9180 #RHTEE 0 650
9190 $EHTZ O 0 240
9200 FEHETEFIH 1 231
9210 $RAT = H 0 408
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9220 $RETHH 1 657
9230 ST B M 1 739
9240 SEETIE K 0 275
9250 FEETALHith 0 681
9999 R X &t 8 7731
9310 E[FZHET:AMR 0 219
9320 EFHATAL 0 253
9330 H[SHET/INE 0 162
9340 R [ZHTRY 3 433
9999 RFHXET 3 1067
9410 RET T & 0 408
9420 RHETHHE 0 224
9430 RHETERK 0 145
9440 RETAEF 0 11
9450 RETHER 0 21
9460 RET{—_HE 0 31
9470 RETER 0 7
9480 RHETHER 0 57
9999 RIXXET 0 904
99999 Th&Et 67 67882



